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It is important to notice that the eigenvector-based
priority weight vector used in AHP, gives a result of
Japanese way of decision making, where a harmony among
different opinions is considered important and two
opinions are summed up and then made into one by
dividing it by two.
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As pointed out, the conventional eigenvector—based
priority weight vector results in a Japanese way of
decision making, or let us call it a harmonized
opinion or policy.
What nuclear policy would Japan and Japanese people
should take in the face of the 2011. 3. 11 East Japan
earthquake and its aftermath? Cautiously thinking,
we would reach following policy 1 or 2, a sort of
extreme opinion.
Policy 1: Stop and abolish all the nuclear power
facilities in Japan, considering the nuclear related
risk, as Germany and Italy have been doing.
Policy 2: Establish the basic nuclear technology and
the emergency deployment force, and increase the
volume of nuclear power generation, considering the
economical efficiency and the ecology, as France has
been doing.
While these policies 1 and 2 are expected to be derived
by the proposed MAX-DAP and/or MIN-DAP, the
harmonized policy, Policy 3, by the conventional
eigenvector method would be as follows, which seems
to be taken by present Japanese government.
Policy 3: Decrease the volume of nuclear power
generation for the time being and do not decide which
policy to take, Policy 1 or Policy 2, waiting and

seeing what is happening and will be happening.
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